Solving Radical Equations and Inequalities – WORKSHEET

1.  Is 
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a radical equation?  Explain your answer.
Solve each equation.
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Solve each inequality:

11.  
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13.  The formula 
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relates a stunt car’s speed s in miles per hour at the beginning of a skid to the length d of the skid in feet.  A stunt driver must skid her car to a stop just in fron of a wall.  When the driver starts her skid, she is traveling at 64 mph.  When the driver comes to a stop, how many feet will be between her car and the wall?  (Round to the nearest thousandth of a foot)


Start of skid 
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14.  The diameter d in inches of a rope needed to lift a weight of w tons is given by the formula 
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.   How much weight can be lifted with a rope with a diameter of 1.5 in.?

Solve each equation for the indicated variable.

15. Solve for A:   
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16.  Solve for V:  
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1. No

2. x = 12

3. x = 10

4. x= 5

5. x = 2/7
6. x = 8

7. x = -1

8. x = 4,5
9. x = 7/2
10. x = -3/4
11.[ -5/2 , 10]
12. [ -5, 20]
13. 4.95 feet
14. 1.48 tons

15. 
[image: image18.wmf]2

Ar

p

=


16. 
[image: image19.wmf]3

4

3

r

V

p

=


2

_1295434688.unknown

_1295435355.unknown

_1295436805.unknown

_1480503149.unknown

_1481974110.unknown

_1295437246.unknown

_1295436318.unknown

_1295436428.unknown

_1295435921.unknown

_1295435066.unknown

_1295435151.unknown

_1295434936.unknown

_1295434293.unknown

_1295434565.unknown

_1295434612.unknown

_1295434509.unknown

_1295434191.unknown

_1295434234.unknown

_1295434043.unknown

